2026 Voter Action Act

Fund Distribution

Primary Election

Contested

Democratic Party				
Office	Voters	Multiply	Total	Contested Fund Amount
First Judicial District, Division 4	91,920	\$0.68	\$62,505.60	\$62,505.60
First Judicial District, Division 8	91,920	\$0.68	\$62,505.60	\$62,505.60
Second Judicial District, Division 2	196,293	\$0.50	\$98,146.50	\$98,146.50
Second Judicial District, Division 11	196,293	\$0.50	\$98,146.50	\$98,146.50
Second Judicial District, Division 19	196,293	\$0.50	\$98,146.50	\$98,146.50
Second Judicial District, Division 24	196,293	\$0.50	\$98,146.50	\$98,146.50
Third Judicial District, Division 4	58,410	\$0.68	\$39,718.80	\$39,718.80
Tenth Judicial District, Division 1	2,161	\$0.68	\$1,469.48	\$1,469.48
Eleventh Judicial District, Division 2	45,897	\$0.68	\$31,209.96	\$31,209.96
Eleventh Judicial District, Division 6	45,897	\$0.68	\$31,209.96	\$31,209.96
Eleventh Judicial District, Division 8	45,897	\$0.68	\$31,209.96	\$31,209.96
Twelfth Judicial District, Division 2	12,708	\$0.68	\$8,641.44	\$8,641.44
Court of Appeals Judge	571,418	\$0.19	\$108,569.42	\$108,569.42

Total \$769,626

Republican Party	1			
Office	Voters	Multiply	Total	Contested Fund Amount
First Judicial District, Division 4	91,920	\$0.68	\$62,505.60	\$62,505.60
First Judicial District, Division 8	91,920	\$0.68	\$62,505.60	\$62,505.60
Second Judicial District, Division 2	196,293	\$0.50	\$98,146.50	\$98,146.50
Second Judicial District, Division 11	196,293	\$0.50	\$98,146.50	\$98,146.50
Second Judicial District, Division 19	196,293	\$0.50	\$98,146.50	\$98,146.50
Second Judicial District, Division 24	196,293	\$0.50	\$98,146.50	\$98,146.50
Third Judicial District, Division 4	58,410	\$0.68	\$39,718.80	\$39,718.80
Tenth Judicial District, Division 1	2,161	\$0.68	\$1,469.48	\$1,469.48
Eleventh Judicial District, Division 2	45,897	\$0.68	\$31,209.96	\$31,209.96
Eleventh Judicial District, Division 6	45,897	\$0.68	\$31,209.96	\$31,209.96
Eleventh Judicial District, Division 8	45,897	\$0.68	\$31,209.96	\$31,209.96
Twelfth Judicial District, Division 2	12,708	\$0.68	\$8,641.44	\$8,641.44
Court of Appeals Judge	571,418	\$0.19	\$108,569.42	\$108,569.42

Total \$769,626

Democratic Party				
Office	Contested Fund Amount	Uncontested % Distribution	Total	Uncontested Fund Amount
First Judicial District, Division 4	\$45,960	20%	\$9,192.00	\$9,192.00
First Judicial District, Division 8	\$45,960	20%	\$9,192.00	\$9,192.00
Second Judicial District, Division 2	\$37,296	20%	\$7,459.13	\$7,459.13
Second Judicial District, Division 11	\$37,296	20%	\$7,459.13	\$7,459.13
Second Judicial District, Division 19	\$37,296	20%	\$7,459.13	\$7,459.13
Second Judicial District, Division 24	\$37,296	20%	\$7,459.13	\$7,459.13
Third Judicial District, Division 4	\$29,205	20%	\$5,841.00	\$5,841.00
Tenth Judicial District, Division 1	\$1,469	20%	\$293.90	\$293.90
Eleventh Judicial District, Division 2	\$22,949	20%	\$4,589.70	\$4,589.70
Eleventh Judicial District, Division 6	\$22,949	20%	\$4,589.70	\$4,589.70
Eleventh Judicial District, Division 8	\$22,949	20%	\$4,589.70	\$4,589.70
Twelfth Judicial District, Division 2	\$8,641	20%	\$1,728.29	\$1,728.29
Court of Appeals Judge	571,418	\$0.19	\$108,569.42	\$108,569.42

Total \$178,422

Republican Party				
Office	Contested Fund Amount	Uncontested % Distribution	Total	Uncontested Fund Amount
First Judicial District, Division 4	\$45,960	20%	\$9,192.00	\$9,192.00
First Judicial District, Division 8	\$45,960	20%	\$9,192.00	\$9,192.00
Second Judicial District, Division 2	\$37,296	20%	\$7,459.13	\$7,459.13
Second Judicial District, Division 11	\$37,296	20%	\$7,459.13	\$7,459.13
Second Judicial District, Division 19	\$37,296	20%	\$7,459.13	\$7,459.13
Second Judicial District, Division 24	\$37,296	20%	\$7,459.13	\$7,459.13
Third Judicial District, Division 4	\$29,205	20%	\$5,841.00	\$5,841.00
Tenth Judicial District, Division 1	\$1,469	20%	\$293.90	\$293.90
Eleventh Judicial District, Division 2	\$22,949	20%	\$4,589.70	\$4,589.70
Eleventh Judicial District, Division 6	\$22,949	20%	\$4,589.70	\$4,589.70
Eleventh Judicial District, Division 8	\$22,949	20%	\$4,589.70	\$4,589.70
Twelfth Judicial District, Division 2	\$8,641	20%	\$1,728.29	\$1,728.29
Court of Appeals Judge	571,418	\$0.19	\$108,569.42	\$108,569.42

Total \$178,422

General Election

Contested

Office	Voters	Multiply	Total	Contested Fund Amount
First Judicial District, Division 4	154,904	\$0.50	\$77,452.00	\$77,452.00
First Judicial District, Division 8	154,904	\$0.50	\$77,452.00	\$77,452.00
Second Judicial District, Division 2	431,031	\$0.19	\$81,895.89	\$81,895.89
Second Judicial District, Division 11	431,031	\$0.19	\$81,895.89	\$81,895.89
Second Judicial District, Division 19	431,031	\$0.19	\$81,895.89	\$81,895.89
Second Judicial District, Division 24	431,031	\$0.19	\$81,895.89	\$81,895.89
Third Judicial District, Division 4	139,172	\$0.50	\$69,586.00	\$69,586.00
Tenth Judicial District, Division 1	7,446	\$0.68	\$5,063.28	\$5,063.28
Eleventh Judicial District, Division 2	125,968	\$0.50	\$62,984.00	\$62,984.00
Eleventh Judicial District, Division 6	125,968	\$0.50	\$62,984.00	\$62,984.00
Eleventh Judicial District, Division 8	125,968	\$0.50	\$62,984.00	\$62,984.00
Twelfth Judicial District, Division 2	53,426	\$0.68	\$36,329.68	\$36,329.68
Court of Appeals Judge	1,363,764	\$0.19	\$259,115.16	\$259,115.16

Total \$1,041,534

Office	Voters	Multiply	Total	Contested Fund Amount
Statewide Judicial Office	1,363,764	\$0.19	\$259,115.16	\$259,115.16
District Judge	> 400,000	\$0.19	\$114,481.27	\$114,481.27
District Judge	< 400,000 > 200,000	\$0.31	\$123,999.69	\$123,999.69
District Judge	< 200,000 > 100,000	\$0.50	\$99,999.50	\$99,999.50
District Judge	<100,000	\$0.68	\$68,000.00	\$68,000.00